Q1.

48 + 6 =
1 mark
Q2.
630 +9 =
1 marQ3.
486 + 3 =
1 mark
6+4+2=
1 marQ5.
4 3|6 4 5
Show
your
method
2 marks
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Q6.

9718827
Show
your
method
2 mark
Q7.
476 11
Show
your
method
2 marks
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Qs.

37[888

Show
your
method
2 marks
Qo.
0.9 +100 =
1 mark
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Q10.

1,210 + 11 =

Q11.

5,746 +5 =

Q12.

60 = (30 - 24) =
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1 mark

1 mark

1 mark



Q13.

2 ﬂ6'72

Show
your
method

2 marks

Q14.

73[306 6

Show
your
method

2 marks

Q15.

2.12 +-10 =

1 mark
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Q16.

=240 +8

1 mark

Q17.

2 6|4 472

Show
your
method

2 marks

Q18.

7,505 +5=

1 mar
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